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POLITICAL SCIENCE
( Major )
Paper : 4.2
( Public Administration—II )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks

for the questions
Answer either in English or in Assamese
1. Answer the following as directed : 1x10=10
TR wors frameaa T foyyy

(a) “Recruitment is the cornerstone of
whole public personnel structure.” This
was said by

U B PSRN TMAGR e 177 @3
AN CFfRa
(i) Marshall E. Dimock

= 2, o
(i) O. G. Stahl
9, f&r. %
(@i J. D. Kingsley
. fo.fe0E
( Choose the correct one )

( &% Swach 71 B )
A7/948 ( Turn Over )



(2)

(b) The last stage in the process of
recruitment is

T AR o SR =
(i) appointment [ I
(i) orientation / Tegig
(i) placement /;'r{fmi{

( Choose the correct one )

(o= T@Co IS Sferea )

(¢) Which Article of the Indian Constitution
deals with the removal of the Chairman

and the members of the Union Public
Service Commission?

SIS TR o T RN
CTECR NAPR  wapse S STPRe

FHPIRR @ Srzpy vz 2
(d) Which of the following is not involved in
the preparatigy of the budget?
T TS s e 1 G o
Ceul)
() Finance Ministry / @ g
(ii) NITI Aayog / S Syrcast
(i) Finance Commission / &% Sl

( Choose the correct one )

( w7 eaco! A1 Tfere )
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(e)
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(3)

Which of the following is the basis of
judicial control over administration?

e G(EY TN (IO PR €S IR
fargem fofe = ?

(i) Judicial review
R A
(i) Separation of powers
HIOH P
(iii) Rule of law
129 >

( Choose the correct one )

( = Teqch Af Tferear )

The Indian Parliament exercises final
control on public finance through the

SO T T e 9w pomsicd
g

() Estimates Committee
SR TR RS
(i) Public Accounts Committee
e RO “IR S
(ii) Enactment of Budget
CE 2 AF Ty

('Choose the correct one )

( Turn Over )
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(4) i |

y g A ) In which year was the Right to
. (9) Bureaucratic theory of organization was G tion Act adopted by the
developed by g Icz}lfom;inent of Assam?
: over :
RO STl o fr e P BRI (T TS O TR SRR iz
(i) L. D. White o129 e ?
<. 1S, @Rh
(ii) Luther Gulick 2. Answer the following questions : 2x5=10
I Bferd : | T oA T o
(i) Max Weber (@) Menﬁoncmﬂmiilsfzilziﬁons of the Public
Service Com ;
(¥ SE9"
A ZIRIRER) |
( Choose the correct one ) RG] ST 101 SIESCE Al
(9= TeaCH! A Tferedr ) (b) Write two means of judicial control over
: inistration.
(h) Who appoints the Chairman and publilwc e RO TE fEgE 1o
members of the gtate Public Service G
Commission? e e | ;
AT @R 6] S € ACTIFAR | () Mention two probl_ems. of peo_ple’s
SUCRTRIDETN participation in public administration.
_ | e SPTRTS SNz ol
() The first Lokpal Bjj] was introduced in | i e
AT Ay CIRNe fipems (@ 57© SLUH (d) Mention two suggestions made by the
b Gorwala Commission for the removal of
. . - di dministration.
(i) 1971 / Ssqs inefficiency in In 11:1 %ml ;S RO
4 OGOk W y I
@ 1967 34 o AT 01 R gy 49 |

(iii) 196
8/ Shuy () What do you Mmean by red-tapism?
et 6 g 0
qeifreR IR '

( Choose the correct one )

G|
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N T e R DN T L
e ) . )

3. Write short notes on any four of the Cigd St

following : i ory s
Evaluate the importance of merit system

@ i GG SIRe oy :
R as a principle of recruitment as
(@) Union Public Service Commission compared to the patronage system and
FEY ey S e the spoil system. 10
(b) Importance of p, . s <= PUTEFel &S WF I A
Ometon R TS T TS G T |
M [€11F i S
(c) Dist‘inction between Accounting and (b) What is budget? What are the princip}es
Audit generally followed in the budgeting
P SIF RoR o e e A1l process? 3+7=10
(d) Performan At 2 qE0H RS FYFITe 22 F
i dzetine R fe 2
FRF e :
S or/ =\l
(¢) Neutrality i, .. .
LR biEE :.Sﬁy ] Servics Discuss the powers and functions of the
® feerye ' - Comptroller and Auditor-General of
(f) Public s g SN, India. 10
ee
TR Rorg s SRS TRfEEe ST BR [y wHel 9E
\ SR SHCeDa 41 |
4. (a) What
Dids :I‘ € the different types of training? \ S
of tr .S_ the Objectives and importance (c) Discuss and ev.aluate the contribution
*I0INg for givil servants. . 3+7=10 of F. W. Riggs on development
IR ffeq BRI & 52 SR administration. 10
AR < m M oPe ¢S F. W. Riggs-4 SRYH
A T BFG
RUSILRIE ¥ SO S FEEH |
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(8)

l % Or / &7

Explain the main causes of failure of
bureaucracy in India. Give suggestions

Sl
3
’x ~ for their removal, 5+5=10
I mw °q 9
\“AJ SO |

(d) Critically examine the role of various

means of legislative control over
administration. 10

TP R iy g9re R fFEaw
Or / 534l

What 5 Lokpal?  Describe the
COmMPposition a4 functions of Lokpal.

3+7=10
G Ry oo A S TR
QWW|
* Ak
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